AC=12, CB=16, AB =20
S(AAND) = S(APLB)= S(NCTKD)= S(KTPL)

DL=?
H P
i Mpoeepem BbicoTy CH.
Haingem nnowaab S(AABC)no Teopeme 'epoHa.
; P(AABC)=12+16+20=48
« r 1 p=P/2=48/2=24
A D H K L B

S(AABC) =\p(p-a)(p-b)(p-c) =V24(24-20)(24-16)(24-12) = 96
=>0.5* AB*CH=96 => CH=96/(0.5*20)=9.6 => AH=VAC>-CH= V144- 9.62=7.2  HB=20-7.2=12.8
S(AAND) = S(APLB)= S(NCTKD)= S(KTPL)=96/4=24

S(AACH)=0.5"AH*CH=0.5*7.2*9.6 =34.56 S(AABC)/4 <34.56<S(AABC)/2=> H HaxoguTcH

mexay D n K.
3ametum, yto AACH~AAND (yron-yron) =k=AD/AH =VS(AAND)/S(AACH)=V24/34.56 = 5/6

=>AD=5*AH/6=7.2*5/6=6
3ameTtuMm, yto APLB~ACHB (yron-yron) =k=LB/BH =VS(APLB)/S(APCH)=v24/51.44 = 5/8
=> B=5*BH/8=7.2*5/6=8

=> DL=20-AD-
BL=20-8-6=6 cm



